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_Tra bomndg\rb TR > 2
LN S t§= xX -5 -
) (G- D(xt2) o o

-~ o) 5 et x=-2) f
Y -S ) (i) 33 -1 5 2
colea 6o ||| =% |
(v) 33X <« 2x-|

For 0L u L el ===

Boundory LNes L(m) x > 2
o x,a =6 oand || <1 |
y=o- Vi) 2.(x+) € -2

Conr:ide.r‘\r_\rb Dca: 6

WMl -1] = |2c-4)] -
2|36l uﬂl

|
AR EIRREARE |“[IX) Xte >|ax+3] |
\3;]'.'.“‘:"' S C." S<L XA 3)

—4

o xges s 1@ Find the raoas
o} (w 0 tha. POSSibIR
4.-§ lrt.' Volnes of \sfof reall
9+ ‘3; - mﬂ NOAWR S O0fF 2C Qd.si»\.
} .~ 0fF the. @9 unations.
balova: .
L:t)__& = A=-2.xX g
A o™
an-:S::bx.-ts._ i S
) _ _ XQ@-X) .
Execcise D Y = 3T
® solve the___ . et
e gualtity 3 W W = 4exc-2)
(o.g)x'} 43,0 ‘ | 3 X (x12)

. {
@For ot ro-..t‘\s)f_' @ Swen t hoot ,

Of Vallues of X do 3:-;5_9;-%1 s Find bu;_.
> (2% I

LR Followang ey u- t'o.._rubg_, cf vosluey | i ;

ahties Wold {[Wrtnia whick | -

M xX=1 > -2 does not Lie com
2 =2 2013 \ '

‘Scanned by CamScanner



} S0ebds

| A suard is o exprission containm ot leost
I o Sguec co0t Of N PC MU NUMbL e ond oS
suc coan not b eVvoaluatld Qxactly -
_ AL Surds are \reational NWMbRrS 1@ 1he
i A] coon NOt. bR RWXPCSSAd it gocemn 'g’b Rp\&%
oo oond b or positivv_ﬂnt%&r&'

. ExgmpLLs ofF Swrds ‘no\wde 3, B
| [T, 23, 38, 40, et

o —ALGEeRA 0F SvEDS W
- 2
e x{& = ok & (V) @ 2%8) = n‘%h:a«.ﬁ.

“ - i A
 olc * bic = @ tp)ic M. (R210) -a+tbtafkms

@ Ym/{-b = x;/b

When Sucds o\ppe__o\u;- A the de_r\omina._-{:nr‘,

; {k.e_s Ol alouws rermoved: The ProCRSS of

r‘e..mo\n;n.s Sucds. grom the denominetor— 'S
- Calld rotionaelig

g the denomicotor -
Tn_l'm..t S

‘ 1OMOliSe. the F.r'k.c-t:'on, W MUt
1S Nuimecator and denominoator b
C.or\:\u..:&:»:t?__OE 1tS denominetor
—r"\&, .C..o.nsm%act,&_ ¢ P+q9_ 1S P - e r e
P oar Lo both .__;_s./&'rL N Surd form ?_3 -
the_ C.an_\m_%cute___o_{- V¥ tb s faa-b oand the_
Vi C.on'amcho.;hL_ of \~+b 1S ~-ou-~b -

&pli_

‘Q the

r{ll

\ - - EXomple § -

‘°H’® s‘\mquct the_  gollowina_, :

"o M a8 xm.&&aﬁi - 122

N.‘ﬂ@Expre_..ss the. £oNowW) I AN FOC M ot blT
g o 2+5 . . €2448) (3+8) (5 -2)

4=
o =33 T ®-0(1t.)

;g'.? __ o |
@.F-’nd the Square rcot of 6 +236 -

—=ola
Let 4z S9uare root be :t (& +E&) 201t E) |

Scanned by CamScanner



Exe ccicq '’

@E&prf{ss the. fONOLdINg as fralt-
NS Wit rotional denominetors:®

!'

e -2+ (R, -
2= - 2313 |
@B -3 @) @ -2 f
R+E s - 3123 .
) - ) _ : _ i ?:
® 14648 ()@ +2)-(B=2) |
- &.ﬂi - B3
ad 2 .‘- e W 4 ) ‘ \“‘,‘
@S‘MP\.\'FLS ‘LHQ— FO\LDW\ froactionsS
(e ) NNA™ VI P T
3_5- 3+\- 3{3"& ‘E+& ll
= = g
@5‘\0\& -Fhod. m I+% 16 _

@E)\Pre.ss 0% AL the form .{E’.-

@G;v?...r\ that t=L(B+1), Show
thoat 7= L4t

@G.\ILA 4 oaut C&. = bﬁ Show -Llnod.
g 202 L + B = 2+ 10z

Ab(a+3b) 14

@ Given that ER.—&O& = P43,
find the ValnesS of P eund -

®G‘w~1n that 32 117132 and R 21414,

bj Fedtionalising the deAagminantor

‘evaloante ﬁ to 3 swpieicant F.Sw'i'&
-

@ Flad the Sfuaenre oot of %-1{7‘5- -
Ciez-a) J | | X

orto.com
)orto.com

|
Scanned by CamScanner



L °_‘=‘nﬂ€rrﬂ Ms_&p.n_lme.s_ _
_ ANDICES
An u-\du 1S tha ?OWQ-F' 10 LWhit~ & cstv'm nuMber

28 roased e_,,il) foc 3, , XS the index and &‘5 4h2 b‘““f
_L,cxb-hs of ndicesS

|
|
i

- l'

_For- ma5 905 tive 1r\1Q_SLrS M and'n,
M x xx' = x '
o x e x™ = M7
(. (I. )M .= DCH“_
(D :t:,“"“ ==t -
v x™ 6() ,_Prov‘do.d >x. 30
Ne: r
x° = | _ frowvided X 30 -
- pcood
x°® = =x*"
=.:&:.‘.—. :x.n N
: =X
- I‘“
= | i
ook = |
. _ Exmmptu_ -
_ G)_Sm-«_:&h Wy -eoch Of Lht followin t.:-t.ch.SEaans-
e 4 e (%) @ ) ) 47 x9*
. _ SoL 3-"
i (o. i _-__J,( ’_‘,)___ _
| = :E"’" R
=22 -
R R N S
b (2) = /3
o@-@r .
e — _ )
=R o x> - i
2'1. . ) |
T e ——————————————

| Scahned by CamScanner



@ wixa* = @) aE)*
3 _

@™
2713
—_c

_?—_H)
=27 AN

et = 2%x 2

I 4

»

@&:we_ fac h Oof thQ e;*z-_us;%tfb"\f: -;; -

be Lou:L .
&) X° =13
© 2 = x*

-

_:2':-3 = L
x> 2

:x‘h-. H - 2—1
x* = 27
() = @24

;

B =
(d) x-h:- 3 = 13:iy‘

- .

t

m
m

Scanned by CamScanner



@ x%-3 =282
Xt axh  205% X

x:.l:!.:' 2.::.!'.’3_; 2.8

4 xrtzal
- ©* ol-3 -283:0 __
:, Eithar &= Y4 or o =7

@Solve tre. eguostion 2 {x-1 - {x+q = |

- 30\Nn 1
2{x-1 = I 4+ Xty

ACc~D = | + 208Gy + x4y
A4 = Lra{Xrq + <4y

IxX-9.= 2{x 1y
9>C-SExX 465 - o
X =5 oF 1444yq

Te st 1o Sliminate the fXtrancous oot

SRk CRSALES from dou.ble Si_u.o..mngs

< = 5 | _

©5~m?““5 0+ - Y (1+x)"™ 1

;:_ R B .
o _ So\ _
+ (l+:¢:.,) - *JC(HJ:) Yt nx)._, Hx) - x|
8; 1+ S - <
L R _..._(u:q [:ZCH_::l -x]
-y . - aars>
_z-- R e & 2 S .
> o ZSHac.f'" | : -
TT: |
5.) Rl’b?.r'r\od.we_\.s | _ __-_
2 Q *I-) - *xcwx.) CH.x.) - Lx(.t-rx) H-'x-)
L (1 =) |
S 1+ x '*J'-)'l

= -}_.-_.‘::nr:..'?(mar:.llL ~

. i (@'@Q

|+

Fi
i

Scanned by CémScanner



@ SiemPLify the Followng expressens
@ (x-2)"24 202" () 82y
n Nig
. 2. x4y
n-= ‘ Ly % % iy

@ 3G™) - g4Cal), (@) £x (x) -‘-x. Ci1tx)
21\'” f‘l

< 4) (-2) ( 11”*tnx)‘*)

1-0 ni3

@Express 0 4 ) x 27 x16™ in powars o 2
(140

1 n-3 -
@m Y. "X X8 l-n itha form 33

@Sowe_ LOC I OF the Foliduing equatons

() 5™ 5@:’ -8 _ (b) 8% = 40~ x)
@(q)xx il }g @) 5= 1253
) x - - ;x-*l x - (2 (."ti)

© 4 =25 @ & = (2)

H):r. -3- 9™ (W) bxt+5+x"B-

M 27C) -z () o )

| — ..
(v 3 +26(3%)2q @ &% :50:'.1'1)-$"‘71 =0

ax. - . (x+11) .
™ - 4
l .\ 2- - +é --_2_ N (n! N A axz .1-3 '_-_"'

(zxr3)

© 27 % -‘Kz") P 3(a>) +1(3") 2.-01

I
i
' FONOLuin e guations W\
JWSt vsou_r- N ASLe S 1;
(Vv 25 L= =19 '
() h_::—r: TAXAT = 3 |

-

@ SO(V{_ the_

© J2-x + {xty = 3 ;
L’d)i 3—\'x.+|)-\xz i
x =3 |

_—

Scanned by CamScanner

-:;C2.“') +8=0 | _

hool
* .
Motes & Tests

orto.com
orto.com



L _Loanap\TIRONG s _ - 4

na S pa— - e
_— ,Tl"\‘?_- LO&mr.LthM. of o~ @OS tive ?_u_n_n,tdts N
—to e qjven-besSe O~ s the. ndex Cpowed) |
 jo lahich o panst bl roaised to Mok it Q'l‘mi
4o N e 1 o =N , then X = loga, M-

- U)-...Lc:%:c: = 1 i . I . )
——("2-“33:‘ =0

___(“ﬁ.oi?g"x' = X et -

(W LQSC— o = n LDS:,“

- Log cob "'-'L“ﬁc_"* t Wack ;
D) Lpst___(%\ = L“%c.“ - Loscb - . IR

;-(;") [;S“b = Lna b . ) _

- o o : -

. Pcoof S
. L“Sc-c = _ _ _ _ .
- Lat Lnﬁ‘_._c.- = o . i —

Scanned by CamScanner



. _
(o3 = X
ﬂ=x

Let. ©

w log % =N

’&-ﬂo;g__‘:;émﬂ————r_’:

) ]_usc_o\ﬂ = nLat\\sc,o.

LQ_"‘- Loscﬂk = X
= =

n
Mo o

Loac_c'ﬂl N Lo%,_ou“
n
Ax loge & = Lode™ -
Lo o = N

1

(YILoscq_b T lege & + Lo&c_l,

let X = loqe™ ond ﬁ:”Lo%"—-b'
b

=p C.,x = O Cu-..:‘\d C =

ob =t

Y
B C('-%g* + logeb)
‘LQSC. ab = L°3c. C“‘-"S;.i-_t loge b)

- .__Losb:&b = tUECO\. %-_Lo%,:b

D} ‘°i\,<.(‘fb} — Lc'%c:‘"‘ - Lo%c_,b
led =X = '-05:% o d \Qz'w&th
= C.mL =N ewnd <= b

& = *
b C*a
2
= C S _

C.( ley ~- o 3.,_\.)

(loye &~
Loﬁc (."?;) = Lo C O3S togeh)

ch}r.(.e;{,) = (t‘:’bc."'- = 103‘._5) Loy <
~ . loac () = leqe —e{ b

- B T ——

\

* .
otes & Tests

rto.com
orto.com

Scanned by CamScanner



, Aot -
) et logeb =X :
B 0 o= b - -—
L lo&toh —__Ln.%cb - P
. xLQS o= Lu%zb :

> = .La&c_b,- - -

- O solve theo _e.q_mmiims be low -
.M LQ.SSJL + .Lo_sxﬁ = A5

- -

___-(IIJ_-LQ3“C6:'JL)._ = l.c:_%: X

Sala

) Lo\c;)sac. + LDSI_S = 2-9
*_“L035I'_+ LO;EE: =29

_— loa g™

—— et Ln351. = O

) = o + ! =29
=N

__2a* 42 =50, _
2o -50.+2_ =0 i ;t

I S I B |
) %Os:_":_q_m_—_c\_-tl =,

20v(an =)~ (n-2). = O _
Qee-Dlen-2) =o
the— 20 - o -

= _m.;_JI:
Q- - ONT2 20 , o=z 2
Whan o =2, loy g x =2
. D2 x.=86*z25
Nhan °‘~=31, e
) 2 x =48 -
- it = =

e ————eet

Scanned by CamScanner



n IOSHCE‘:&) = LQSAJC.
t°g:..( 6__‘_:'_’5-) = Loslx,

- tos .4
LOSACC”‘X‘) = Logz_:xf
6 -2C -'-.I_‘L
X 4+ 2 -6 =0 -6
N
2 -2

~11+_3.J:_-2..x_-c, =0
X (xX+3)+2(x~3)=0
Ce-2)(Cx+2) =0
Eithec— X+3=0  x =-3 (l:lfSC_mr'A_)
o X -2 =0 Xa=
P S

@Sho-.-_. theoot Lc.-aﬁat. = Lc.,%-_:,x hen
| ‘rlcﬁ:.
Cvaluate Lc%a 4 ogven thot 1033-1=—0'63.
—aln )
.I.Qsé__‘x_ = Loi x i} R ) .
- L0‘536 , _
= Lo&_ B

i
o
fi

n
F
0
Lo
f

K

Hence Lo%bu = Lo33-’:3'

I
O
0
P
7]
»

i
»
™
0
|6
5

®50Lut The “9uations 5&3._:\3 = ( a

.com

a~nd 2y = e S MUl to Qe “15 r.com

e —

Scanned by CamScanner



-_ e e e

e » I

N @ Prove tho+ Lns‘___(c\-t b) = .a.losc
Soln.
e Cont B)
Lotac_ Coa*+20b + b'l)
LQS':.Q‘*CI i -26? + g‘

LHS

= L_oac_c\:‘ + Lo&c_ {lf -&‘E +E"—_.|_
- -:u03 o -fLoSt + 2b 4 5:]

-— L"Sc-ﬁ"** h)"

@ le *LQS& n=>X ond Lq,%c' =N e

—that g__\é_____;%hc:. - Loc\hp.
ol logc t loa a
- . : e 1~ 1 6 o . -
- LHS = o< - -~
.:X'.-fts _ <
= Lo&r\ - Luq_._-_
: Lobﬂ'-“ + L°S¢-
( ag_,-hn )
lﬂsbn Loshc:
( ) (Laahn. )
ln3ha log, &

=.-’1l°5t_o~. + LQESQE t?,-_b_-t_l;,']
[ =N QL
“

o+ L”Sc[”'%?" _ch:- .

e NEl, prove

Scanned by CamScanner



. LI =\ = Lot\hc- - LO\bC\
? 5 Qe T lc-&bq
d

@G;VLA 4+ ot loSBr_ =

= LU&&

[Q(Sb n

‘°5u‘- - ey

e
ko.

+ /hB*sc' :[

lo&c + L°:Sb°‘-

—

N, Los o= b
PV and los ub = P
6? & s Prove thot obo = |
0o —20lmn -
w N =lo A A A
0 Yo N CH
4 b =logea 2o~ - W
- < _
) c:..loi\’..,‘b XN b - R ()
o Suwbsttut fFoc < Ta )
2 (LM)* =
-;? =9
S Subsiitwti, goacr o 1A W)
L4 (b"?: = b
—
< b = b
N o bC = | . ,._._

@G\W‘L-’k thot 3T = logb< . W= logy oc

ond Z = I.c::tb,.._cub‘, prove_ tho it
-x.-rb TZ = XNZ -2

Y=

Z = Lb'}c“b) C

FrQen ),

— A
X = loya b o
loy o b2

=

<:>~..::E;h

—

bC

NC

Substhitut®L for oo
N

= C :b:'ar_.

<

<

SubstitutL for =

CZ.

brc*b

i OW

-_——— —— = ==(D
-——— == =)

- - = - = —- (m)

m

Scanned By CamScanner



on almunS.Q and ®®,
|+ X = _xA._-_L
zx -1 - e |
| +25 +3&> =__x.‘6..z. - Xz =Xy +1

—Execc S@.
. CD Wi thoot th'rn.&s to bles or calculotor,
SN\t S

_®5im9uf3 ihL.hFo\\.ca\.-’ain. loag-citihms -
O | 4 log, (ﬁ‘) —2.tog .

(‘-l) lass e Los[.'z‘.-t l]

@SQLvL_{L\?_ Ly uectionsS pe low
M Lo%n 4t log, n* = 3

W, L:&H;a:x._ = 2 LO'S:_ 4
Cx = 4)
(m) .3[05,_?. - 6(.057?. 47 =o

\v =
( ) .LDS,.JC + 195“-1:. 1 Loy -_-_._-ﬁll_

) Loy 4 =_Lo5x_q_ (vD 2% 2% - 5

et —  — — -—

@ SOLVL the FQ\.\b\AlnS PONC S _Of Sicnu ltonous
'E'.Q_an_-tubna

Q) L05 X —log W= o9 25 and log < +loay = |

(n l.au)bf\ + 2 Losmb =3 and lusﬂn._.-i los q b= 3
whe —eo aNFEb

Weloggx16l0q,,%= 1T and Mlog.x -4loggy =1

Scanned by CamScanner



hoot
@Gium ‘ol lgfsbm = X, Show ‘L'

L ence prove that PQab = o
" |

b= o

@ Givan thot Ln%_._,:r. =P ounnd '-055.,-7-=7.,
Shot thot Loso.?: :-—P?:‘f_ .

®Giva..n 4ot o = Lor3555 o d
bz (oQq 39, Show thot loqg21 = ilb('m-:..bu.)

@ Givin thoot QLD%B N =P, LOSLZN: A
ond -2 =4, Find the value a¢ N

(N= 5!.2) . - ."
@D Given that P= ‘-035._('99&{1)' ond
9 = LO%“CO;S")., find P+ 2T -

@5]-\.()\.-.: ‘ot Lossx_ = % Lm.}ﬁx. hanoel
ithowt u..sins toubles oc oenlculador| -
evosluonte Lo%.sﬁ of L"Sq‘!’ = 0-719295"
( o-862 ) |
@ ¢ Losa(..l t) =0, o, (144)= L

L-™Mm-n = Lo%ﬂ(; *'i!f:)’ |

-

Loc‘\f.("l) +1=20, 5hows that P-7= ’:'6:'-0'

@D The varioable X sSot SEiesS the

- i
Q.*j_mﬂ-.:t-br\ 3::'- Hu“ = 61* ’ B‘:S tol kina |
leagarithens on bolh S1dRS, Sho

Lot X = Ln: q

tc:sg
@

a

to.com
to.com

|
|
|
|
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] -—_A —y ih&n‘:

ll

ap  ofn

=ee- =lotrc +ne +-- -
loo+md tnf4--.. 7

e

cl® ol?

S Where L, M N, .. &k MNon _2er0 consStenis -

|

S = L =
b d

|

=l M+ NEe
Lb4 mMd +nf

let & =€ = & =k
(= d ¥

™ Xk, o= kb

ks
Si...\,ln.c-l\b , S 2kd ond e = k¥

2D LRHS = Llbk t+ tdk + NSk

b 4+ m™d + Nnf

= k )

~ Eéﬁ\.mmgﬁ
DOw a =5 , perove that- Q=S = b-d
b 4 A+4C b+d

i)_kﬂ_

let & = € = gk
b d
=0

a .
PR T SR -
= - bk .
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' ' LA LI o r

G a =<, provie =_S.nO,
thai &12C =}.._.._...-£°\+ _EA% ;
b+2d 3b+4d 2
P o
@ )
4 o < 109 4
—=20ln Solve 4 Fuotiont
LL"-%:%:L Wtz = z*x—x*:;-, 5‘
and 6(ac+5+r.) -
4
=0 E\g =k, &=z bk SMu.l'tmﬁ.i.‘..uu.SuQ- L
o
—20\n, T
S‘M_ilo.rub C=dw utsgz.:z-r;:ng:x. 5‘*

o A12AS = kb+2kd 515111&4;1'5:

.
-

Ja4C b+ id 2 res 9 -4
2(X1u+42z) - z
=k(btzd) n ! <
-~
=b+2d .. x=| = &MZ:&&‘
3b+d
On rearconc ;nts,
Qt2C - 3o +C _EXecc.se
b+t2d  Fyig

@ Sclve 1 E.Q_und-bnjL
@ b low Suvtu..rln.nuu.ﬁlj
'(ﬁ S\ﬁ(ﬂ'f = O (l‘)‘ix-sa 285"‘3: ;-sa
m—cg———ﬁ s/ * 3 X

and 3x + :sb-i zZ =3
Prove tha t

bita - - JanOcot (D x4z = = 31N
e i

b=
- Soln AaNnd 4xX+24.+52Z 230
bt = 3.n(8-9) ¢ sin(esa)l] -
b-o 3n(0-¢) ~sin(p+9) o

Xty = =2xt
| 3= ugas - axaa

-2 .
2Cos56 sin(-6) 5*

—Z—fonpcotd [W=x-= A = Xowaz

ound x* ft3¢z 4:..u.3ﬂiz 6
@y toan 8= 3 . show tnad

& = _Sne (M x-9-2z-u -2z
ath EERYCEE™S _'-1': Z‘],'a = AZ -,

oand :!‘_i:j.n_.jrl_z,.:q.

—20ln
;1_-. = 5'1'19& @GINEJ\. That tn,qe._,
(s 1Y
. fond tha E-J.ftt..;o.m! a
(3 - SI{\@ P a j, ).com
86 Esin(ot%) “T 5% | e
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POLYNOMIAL o

'S AN RAPCLSSION Cf the

A pot aocaral = b
n-1 L. _
:5 N+ o + oK AaX e r L

Qg X
o™ ‘ ond On oar e ol NnuebersS

o, Sy v Q:I'-‘- Jo‘n-l
e

_ and N_19 o _pOSitive ir\te_%
'S LR dq.%re,rg_ 0§

The POSItive. \nteger qr\ . - -
Y Po\.\gxamic«.t. ey X+ a2x 1 + X -

,..PoLtsr\umfml of de_%re.fc.. -t "

THE REMAINDER THEORCH)

16 Qex) iS th quotient and RARCXD 1S -‘f-"\e-
cermotindir LWhen o polunoraiol £(x) 1S dividgd
~by ALK AN £F(x) = CXIQPCx) + RCX)

NB . . _

When o poL:snoM:mt s divided I::\:Sm fuwnction
of deqree N, the Cernannder 1S 0f deqrec
-l g \¢ on OQL\S-\QM{&L s diwided b§q~\
quodcatic QX PreSSian 1. Ccaoindis S Lineae
and \¢ cx..poksm::.mio.k 1S divided bmo\ CubiC ex-
pressioa the. CRrmainder 1S & guaderadiC expresSoa;
— When o polgnoraial fcx) s divided by the
exgrission OC-x), 4+ ke FLrmainder 1S FA):

6 T =0, tnen Oc-x) is o Factar of FCx)-

- - . _Exopnples

(D Divide _D(_z -3x*+ 6 +5 ba xX -2

A L =0\

Usin loaa,_ _division.
S o 5 JC.:L- X+ 4

o e A
X -2 -Jx 46+
_ - 3 _2x*+0 + 0 o

[ = 40 +o

- 2,

f‘il-fﬁ,

_ =5
Loxd-oax? - o .
- - X +EC 15 = ."JC--*DT—-PQ + 13 .
T2 3 |
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dotoNcned CoefeiCiwnt Method
(syntratic division)

Tra divisar 15 X-Z

w X ~-2:=0_, x =2

Usin

Jere | > > > i - X
2 l -3 6 5
-2 8

- ?’fi r—:’f@

[ Xl

——v— 4 RQ o
COFficiand S mindes
. r Vo SORA B e s
A
S xXo-3axr162.45 = X4 + __13
> -2 x-a

M p——
——

@ Whan oo POL&f\or-'\icnl P(=x] 'S divided
ij X, thRO rimainders 1S S Whan
PCX) s divided b:j -2, thR Cmoundar 1S 7
Find th remonnde s taren PCIC) 'S
divided b Cx.-0Cx -2) -

. S0\ _

let 1w fMermoundle b oaxtb.
P PLx) = (X -DCx-2) Plx) +x 1 b)

PN =2 x4 =25 ---_- - - -0O
P)=2a4b =27 -~ -~ ~-~--®
Fram 0 ang W, o= AL and b=3
S - : +

@ Factorise :('..3-.21;"5.1-? & Complate(
_ C(I'B)(L—I3(JC,+Q1 !
A PGt\SﬂomiC\l () coun be P -
?...S»f:--&.& as ) = R 90 + REX) whara 158
'SihC guetiznad a~d R 78 4
CLemander wWwhen f@) s divided
) :(3:.-?0(3(_"6) S
(DShowu that RLx) =X -8)(x) T(x - x)F(8)
A=A o
N Given that When f(x) ¢ div,
(x,-a) ithe remande e

di d b\3
S 2 o d L*.*Hv‘;\

-

a

‘o.com
‘0.com
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divided bb (> 1t3) th. rermounders .‘:._—3) WwWse 1he
expressioa in ) AabovE 10 _dede r rime_ t 2

cemaiadeie Whena Fx) s divided ew -9

O let REX) = &KX +b
= fex) = Q- x-£)] + ax+b
e+ x =« .
= f(A) T aAkAtb - - - — — - ©

et X = A
= fp)zzap+ b - -— —

take @O - @
o A = f(x) - FI(B) and b= &Ff(p)-ri)

—

A—-06L s < -5
L o R(x) = (x-s)fx) + (& -x)F(p)
X -5

) X9 = (x-3)(x13)
2 A3 oand g =-3
But f(x)=2 ond F(mY= -3
Hence. €3 = (X+32) + (3-x)(-2) ,
3--3 |
T SxX - 3
6.

l

L\n
|

b

RS ':'-.,5/6. .aad b= —%

This. priaciele is appPlied . the deieorminoaton
Qf CorgficilniS of ?OL&MMi LS 55 _e_q_u._a_t.na the
CoRfficiunts of tia C_nl“r%_&Pon.d:r\j terms -

@© aiven thoot 20— 9 414 = al=-1)CxX=2) % blx-1)+c,
Find Ao vollue s of o, bond <
i a -

2
AX -9 31y - alxt-3x12) 1 px-btC
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s ax~-@2-B)X j20-p+C

@ USe th& PONCiele of the undeter mind
corfiicrats o find the Sguoear reoe
of xU+uxPrex48x 4y

=20\l
(2t xcYrux’+sx*tba 14 = (c\:c’“ibx-ic.)z
on Q.Arcx.ndins ox* + bx +C.)1 oe o d
"’_gm?&_l‘\ﬂs COoOeffrCivntS,
XN=1,b=2 aAnd C = X
. ThR Sguore Foot of Uty textexdy
. A - B - I A E—
—Execcise
© Divide X -2x*+5x +9 by xX-2

@Fin.d 1R rermocndas Whan xs-rac-‘]
1S diveded bvﬁ b <t |

@ I¢ P ApPresson Xt bx’-x+2x+3
hoS o freirmonndeec 3X 4S5 wkhen divi.ded
by XX -2, Find th Voaluls of & ~ndj
@F'nd th VoluksS of P and 2 thot

Mok X'tex3riax*text L o parfect Sgquasgy.
L@ chtoribt_ 3Ly t- Ig=C -5 ccmrl&ielﬁ
\

®aiven thet (X +3) aand G 17) our<

Focctors of c\x.l.hz.acjb, Find & aand b
@o"t’x'} T 2x e xti 11 1§ thi rermainder wpan,
S vy diviana bnb X122 S tegiCe thoaot whon

FCx) 73 divided I:.\S (x=1), find thi vaulug
(_F L S
1
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A pariial fraciion s oNL of trme

canstiturats 0F o groclion that has beeq

trolised s - — . - _
e TYPES OF FeAacTioNS

cnwwmmmm%mm
Thesge owre. froecdons in Witk
all thie foctors 1 the denorinator are LNnr:

. N ) oax +b
Tha..:b of Of 1he. form RIS TeET e

To partialise Such feachons e Let

o3t b = A, r Pa 4. -2+ Bo
[CERTNCWE SN —-l(q";r,thn) a,x+b, oyxth,_ ox1b,
Where A, A, .-_, A and A, oo CanStants
- Xo LS
@ Express itk folaiunsy as partia) fractiony
(n Ux + 12 an =X - |
Gx13)(xc+2)(x-3) Ix*-nx +10
S0oln
M Let X -1 = A + _B
3x™*- 2110 x -2 Ix-5 "
- X-). = A(3x-9) 't B(x-2)
Wrdinnxe =2, | = A+0 2 A = |
Whan X220, I = ~-5-2@&;, B =-2
.- 2= | = . 2
- 3x-x t 10 x- 3x-5
(" WX 412 = 2 .2 4
(Ax+ 3.)('::.41)(7_-3) Ax43 XA x=-3
&_

, — —
Q”%
- These ocee_ fro.ctons

Ot Leonst one. of the_ Ffociors
'S Fonsed to o PoLuec

1N WhiCh
" the denominater
AFEnter thon one -

T A
O Partialise Such froctdns we_ el 1k
comeoneatr L 2 AL L A 4.+ Al
(TS axth (axtpt (Ex+p)"
;
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EKQ\.I""\',?_LTWL‘:)_!1H~ ~ Y |
@ Express the folorsina b PourLial

yroaCtions

(M) _4x+3 an |
(-0 CEENTERN
=0ln
(M Let #4x+43 = A + B
(= -1)? x-| E-n?

D Yx +3 = A(x-D) T &
Whin X=1, 4+t3=2048 5 g =1
NhA =0, 3:-A+7_; Az=4y

- 8613 = 4 S

Gc-N* @ (@)t

AL{U“O‘.{IULL -

44X +3D = 4{Cx - + 7

G -D* (x-D*

4(x-10 4 1
(x-»H* -x)*

- 42X +3 = 4 3+ T
< -D* x-D  (x=-)

> ! ~ WL Y S
() (x -t D x-) 36D |

(M Frenctions ot o guoodrat.C Eo\ctnr-.
These are Froctions in
tLuhith ot lrast one ¢ the. foctors
"tk denomiinators 1S ol quadrotaC
_&Aprv_&bba thot. . can not be Complitely

et

fonctorm Sed - )
To paart.alise Suc i fracti.ons e

tet tha_ Companwal ! 3
AXMLLIC ~ A *thxrc
EAocnple S
L EAPrassS 1ihe Foho\_-.m.fzt:\‘i Portied Feoabing
W) S fll (ny o a
G -D(x +1) (X41)(2xs cv3) +com

Scanned by CamScanner



Soln

(1) Le+ 33+ = _A b BX+C
(x=1)(x*+) = X+
- . _3x 11 = 2 + J1-22¢
== D(+) x= x4
W Ley K- A
= L. + 6x t+tC
(xr '](135‘*:'(.4'3) 2t J_;.::_x_-f 3
: - 4 - | + | — zx
_ (x (224 x+3) X+ Ax* 4+ +3

(‘V) ]mpccgg.— FroCtionsg

These oare Froactons whmeri tye
d&-Sl“LE. Of the. Nnumeratoc s Ar e iR” than or
e qual to the dQ_%rv_u_ Qf t+ denaminator -

To Poartiolise. Su.ch Fraclons e Fiost

Aivide tihne NnuamMme -rostor b3 the c:th-‘IDM';f‘LOu‘f.Of‘

10 Obtain v quotient and o proper ¢ caCtion
WhiCh S then Split Wp into W48 Pour Lo |
Froctiipns -

ExamplesS
© Express X -xX*-4x 41 os o poctial fracion
3
x* -y
S0l
B:} Lc:n.cb drviSian :
3 2
XL — X -4xX 1) = se-i - __ 3
x~*-y (3¢ -2)(X+2)
let = = DA + 6
EYES +2) x-a x+2
’ I.J-x.t—qx | | -
. =X et = X - ~_3 L
-4 4(x.~2) 4(>+2)

Pa.r‘t-c.s.l fractionS Coan be. wsed n -nte_%mtu]
51-&!"'\1"‘!;:'\:5 WP S ries ound to OGbtoua ke
BiOMial L.X NSNS ofF Cwrda i LApPress.ons
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EXQ"‘QF&

Express thio follolawneg f Cections

as po..i"tl“"-L Frm&-ﬁnbu‘\&
BLX. +i1zx+6

(b
D E> E% Qe ta)(2x+41)(3x+2)

sxrz (4 3 Y
(© G0 (x> -4) X13)(x*-9)

@) l ) & -1ax-Jx
( x3-9%x & (=421 -x)(a+3x)
3 B ~5C (b 2 + 2C
Q@ =i @ X3y
(€ 3x + 7 (d) 2 ~5x +7
(2 (x+2)* (:x..+ I)(x..o‘:‘
() _x +1 (5> 32ax 417 +18
(x+3)* @R-3x) (142"
@c«) X3 () _ Sx*-2x -]
- (rxD(-sx) (X))
<) 2> + ||k (d) 18-—.:'_.—.:7(_-._:
(x*r4)(e-2) (rx+2x?)(2-3x)

(@) 2x* - 13  (§) x4 25c +18
e+ D (x*+2) x (::.‘-4-3)-"-

@(C\) Ix*_2x-7 (b) X..z'-i-.lx.-zx.-r:t

(= -2)Cx+) (x -1(x+ 3)
(@ x?43x — 1 @) x’-ax>*ux vy
&t - 1) X -3 Xx+))
(@2x”-17x - (§) 2x -4x>-4ga
(= -23(xx*+5) (e -2)(x*13)

School
I Motes & Tests
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